MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Name:
CHALLENGE
Time: Score: y—
s 0 x 0.0395 = w0 —0.8 x (—9.4) =
2 —1.1 x (=0.0016) = 587 —0.0002 x 0.072 =

73 0.03 x (—48.1) =
1) —0.0004 x 382 =
575)(0.0005 x 0.264 =

576)  —(.0005 x 0.289 =
77 0.0008 x (—0.0333) =
7 8 x (—0.85) =

70 1.1 x (—0.84) =

50 0.007 x 3.03 =

) —0.002 x (—=39.2) =
w2 (0 x (—206) =

3 0.09 x (—=1.77) =
0 0.002 x (—32.4) =

) (0.0002 X (—5.8) =
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0 x (—0.96) =

0.008 x (—0.0246) =
—0.01 x 0.0139 =
0.0007 x (—0.224) =
—0.0009 x (—31) =
0.009 x (—223) =
—0.0005 x (—0.019) =
—8 X 285 =

11 x 0.292 =
—0.0006 x (—0.97) =
0.7 x 125 =

0.11 x 0.74 =

—0.0007 x (—0.0123) =
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